
Exam3
-

N(a) X = -yX
*
-3x
*=X+HX+3 =0

- X= -3,
(x +3)(x+1)

(b) bu = Al-3)" + B)-D,
3 = A+3 A =-5/2

,
B = "/2

+z=
-3A -By bn = - 5/2(-3)2 + "(z(- 1)"
5= -2A

32=8 -9 = - 17 =
-5+ 11/ 33 = 62

(c) Gress bu = Catbr) 2
~

(atbu)2V= -4(a+b(n-1)2
- 3(a+b(n-2)22

-
+nZ

4(a+ba) = -8(a+b(n
-1) -3(a+b(n-2) +Ym

=> b = 4/15
n : 46 = - 8b -3b +4

1 : 4a=89 +86 - 32
+6b+ 15a= 14b =

↑

a=()=
bu= 58225+52) .2"

& (a) A54 +Bu5V + (225" + D(2)2

(b) AG" (e) n3Catba)5(d) atbutchitdn

↳(a)isomorphic ,
degree sequence

different 433332 + 443322



(b).Not isomorphic 6 contain a
-

↳ schgraph, H does not,

(c) These are
Aa
E F

#(a) (b) Impossible,
Tota deance 13

is odd,

(c) u(n-1) b/c kn is (n-1-regular

(d) 7+ 4-1 = 10 (one vertexshared

(2) 21 +6 = 27

(f) k(d) = 1 (remove share verte

(g) x(0) = 3 (look at Ky)
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(b)443333
(C) k(@ =2 Creme bbel

(d) x(0) = 3 ((a ,+) , (a ,e) , (a -b)

(el Caib , fie , cibidie , a , f) l
= 7

(f) (b ,a ,e , c ,b , d , e , fik> e = 8

(9) Laibicideif l = 5

(h) Carbicide ,fal l
= 6


